
1 List and define the rules for the construction of Root Locus. 

 

 
 

2  Draw the complete root locus for 

𝐺(𝑠)𝐻(𝑠) =
K

s(s + 2)(s + 4)
 

 

Determine the value of K for a damping ratio of ξ=0.5. With this value of K, find the 

closed loop transfer function. 

 



 



 
3 Obtain the transfer function of the control system whose block diagram is shown below by 



block diagram reduction technique. 

 



 



 



4 Find the transfer function C(s)/R(s) for the system shown below using signal flow graph 

method. 

 



 



 
5  Given  

𝐺(𝑠)𝐻(𝑠) =
K

𝑠2(s + 2)
 

Show that the system is unstable for all values of K, by sketching Root Locus Plot. 



 
6 Find the transfer function of the system whose signal flow graph is shown below. 



 



 


